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Unit-1 Ecology and Environment

Which of the following gases is/are greenhouse gas?

A | CO; B | CHs

C | CFC D | All of the above

o(lAottuiell s ey oflAslGU cllz) B?

A | co, B. | cH,

C.|cFc D. | Gurellciint

Abiotic is also called

A. | Community B. | Physical environment
C. | Population D. | Minerals
Ao2ARs A Ul sdcllHl A B

A | el B. | aidlRs alcttari
C. | arcll D. | wisl

A system in which exchange takes place between living and non-living things is known
as

A. | Cycle B. | Computer system

C. | Ecosystem D. | None of them

As RAeH UL Wdd Wl [oflal drqull aA [QAlAHA awa d A d3l3
AL &

Al us B. | s1ieje2 Ren

C. | ssRen D. | Qs uaL 3

A group of population is known as

A. | Community | B. | Crowd




| C. | Area | D. | Population
acllotl U 313 A B
Al el B. | ells
SNCERTE el

Ozone layer protects us from which type of solar radiations?

A | Ultra-violate radiations

B

Infrared radiations

C | Visible radiations

D

All of the above

sl UsiRoll 32l (300l 2Rt 2t gl 8l 52 872

A ueglaad@e 3Re B. | 8e52s (3200

C. | @Qoflotet (300 D. | GuRell daunt

An example of ecosystem is

A. | Aguarium B. | Desert

C. | Orchard D. | All of the above
85\RR U] GELEY &

A wsdluR 201

C. | auot D. | GuRetl ctHiH

An example of biotic components in the nature is

A. | Cells B. | Organisms

C. | Organic molecules D. | All of the above
yslaui clllRs ueslej GeleWl R

Al el B. | aa

C. | stolls ungRA D. | GuRetl dxn

A group of the organism of same species at the same place and the same time is

A. | Individual

B.

Ecosystem

C. | Community

D.

Population




8 | Ag o oUW, A o uHA As % YsilAell Ucle] U o séclld &
A. | sl B. | 5Ren
C. | ayea D. | cixell
9 | Anaquarium is an example of
A. | Natural ecosystems B. | Artificial ecosystems
C. | Biosphere D. | Community
9 ey A GeloR0L B
Al sedl ss R 501 BRI
C. | ouglaR D. | ayela
10 | Which of the following layer of atmosphere is closest to the earth’s surface?
A | Stratosphere B | Mesosphere
C | Troposphere D | Thermosphere
10| ol Aetmiall atciarele 53 ucrel yeclol duwdlell Well «is wdg B2
Al AR B. | @
C. | ¥R D. | snll@a12
11 | The one of major environmental issue is
A. | Water pollution B. | Air pollution
C. | Soil pollution D. | All of the above
11 yuat valeRglla 3a §
WU YEMQL &l YgMal
C.l ol ygual D. | GuRell ctaun
12 | What is/are the environmental issues produced due to industrialisation?
A. | Air pollution B. | Deforestation
C. | Both of the above D. | None of the above
12

WO Al Geusr Ul valaRella Yald sl §?

A. | sclle] ygnel

B.

cdot(Qettalls20l




C. | GuRall vial

GURall SlEuURL o1(8

13 | Genetically different population with the same physical features is known as
A. | Ecosystem B. | Ecads
C. | Community D. | Ecotype
13 1 yutet all@s ylQurdaoll aefc@ls da @QQu axdl 33
O B
A | s5ReH AsPsU
C.luyela D. | gsletsu

14 | What is/are the effects of acid rain on environment?
A. | Adverse effect on aquatic animals B. | Damage to plants
C. | Decrease in the fertility of soil D. | All of the above

14 1 Qostoll antlell walalRel UR 9 uR AL B2
Ao Yl uR Quild Rk | B | detzuldal oslet
D.

C. | allotell sOgUAHL ©2LS

GURall dAHLH

15 is a place where particular organisms live.
A. | Niche B. | Habitat
C. | Ecology D. | Ecosystem
15 |y ool el 22 ®, Q et ®
Al Qe TR
C. | 881 D. | 5\ Ren

16

Name the organisms that manufacture organic compounds from simple inorganic

compounds without using sunlight?

A. | Detrivores

Organotrophs

C. | Phototrophs

Chemotrophs
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% Yalysiaell Gualol sal [@Aotl R0 wstllls AA W=l sollds Uaesell
Wolld 8§ A UYde] ollH 9 B?

A 3Bt B. | 2030035

C | aadisu D- | sl

17 | The pyramid of energy in any ecosystem is
A. | Always upright B. | May be upright
C. | Always inverted D. | None of the above
171 Glosle] MAMs AUl s8Rl R)
A | Ral B. |l 88 23 ®
C.| énai Wl D. | GuRell 818 el oA
18 | An ecosystem must have continuous external source of
A. | Minerals B. | Energy
C. | Food D. | All of the above
18 | g8lRe Ml Ul oudl Alct el AULCLRUS D
A | wollos B. | Gl
C. | vias D. | GuRetl
19 | More than sound can permanently damage the listening ability
A. | 80dB B. | 150 dB
C. | 120dB D. | 40dB
19 sl ay dlddloll wae, Aietnctol Al s 1R WRle 531 a3 B.
A. | 80dB B. | 150 dB
C. |120dB D. | 40dB
20 | Which of the following type of productivity counts the total fixation of energy by
photosynthesis?
A. | Secondary productivity B. | Primary productivity
C. | NPP D. | GPP
20

o(lAsttHiell s2u YslRe] GaUleSAl UsLANAMEL sl Blsiall et ($5A2tatoll olaLd?l
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A | ollal Geule scll

Yla@s Gaulesdl

C. | Qo UL,

D. | o LU

21 | In food chain of grassland land ecosystem top consumers
A. | Herbivorous B. | Carnivorous
C. | Bacteria D. | All of the above
21 | 55 Atset BRRHMUL AUAS Ao oll 2 Ustl A
A | austeldl B | uiaustdl
C. |l assRau D. | GuRetl
22 | Which of the following is NOT a source of air pollution?
A. | Thermal power plant B. | Forest fires
C. | Vehicles D. | Noise from the machines
22 | o Actigll sl scllotl Ygrblotll B otl?
A A Ul e Elclatlon
C. | alsall D. | 1allellel €leue
23 | Waste water released from are not the sources of bacteria.
A. | Sanitaria B. | Municipalities
C. | Tanning D. | Industries
23 Hiell sisl? ollsad olg well A As2Rauett At otell.
A | ARzRau B. | wl@stAl
C. | auust-suiarll Gelol
24 | Bacteria and micro organisms present in the water will cause in human and
animals.
A. | Indigestion B. | Intestinal tract

C. | Brain tumour

D. | Cancer




24

WRHL R¥cl AseRaUl wal Yar Yl Hislal Aol YRlAH

el 529\

Ayl B. | aiidrsletl uHU
C. | nows ofl atis D. | 3oz
25 | Bacteria in water causes
A. | Malaria B. | Typhoid
C. | Dengue D. | Chicken guinea
25 | ol As2Ra o] 5120l olal B
A | dARa 2ABSBS
C. 300?:1 D. Rss PR
26 | The Taj Mahal is being affected by
A. | Noise pollution B. | Air pollution
C. | Water pollution D. | None of the above

26 | quosudc uR GlRL AU US WL B
A | uaes ygel B. | sau ygwal
D.

C. o ygnal

GURell 518 UL i@

27 | Which of the following is NOT a biotic component of ecosystem?
A. | Animals B. | Algae
C. | River D. | Plant
27 | ol Actmiell sl SRR Mo B(As uesl otell?
A yellza B. | Qaun
C. | o€l D. | cotzu(@
28 | Allowed noise level by WHO in residential areas is
A. [ 25dB B. | 50 dB
C. | 75dB D. | 100 dB
28 | 23015 (AL SORAUBM glRL ACllYo] R Hlo D
A1 25 Sloll 50 Sloll
C. | 75 $loll D. 1100 dlell




29

Air pollution causes

A. | Global warming

B. | Respiratory problems

C. | Soil erosion

D. | None of these

29

aly yguil

oj $1QL ol B

A ol Q6T

B. | sl Ax2ARA

C. | udle euwt

GURell 518 UL i@

yecll URell §ct snall

30 of total water on earth is in the form of ice.

A. | 97% B. | 1%

C. | 2% D. | None of the above
30

QUOL 01R§ 3W flall HA B

A. | 97%

B. | 1%

D. | guaniell 818 uwl ol

31

The IS an important requirement of the aquatic life.

A. | Dissolved nitrogen

B. | Dissolved chlorine

C. | Dissolved oxygen

D. | Dissolved methane

31

QAR clotoll Uecclyul BlARUSAL B.

VAL alleselesel

B. | 2ol sARt

C. | o1t A EAat

D. | 2ot Mt

32

Noise pollution can cause

A. | Hypertension

B. | Hearing loss

C. | Sleep disturbances

D. | All of the above

32

UL YEMBLe]

51201 olofl 23 ®

A. | slauRoslol

AEEIEN

C.| Qu waad

D. | Gurell dxunt

\ The process of burning of municipal solid waste at high temperature is called




Composting

A. | Incineration
C. | Land filing

Shredding

33

ARUIASLolL o155 $UARUAA GU dAluHlal otull attratell lBaua

sSCLHL WA B

A. | erdllojd 524 WLAR

C. | allot st8s(@oL D. | 528l
34 | What causes pollution?

A. | Human activities B. | Trees

C. | Both of these D. | None of these
34 | ygnule stral 9 B?

A | Yetal ygRiRA qel

C ot D.

GURell 518 UL @

35 | CO2 is responsible for of greenhouse effect.
A. | 57% B. | 12%
C. | 6% D. | 25%
35 | co,oflolslGH 352 HIR FAGLELR B.
A. | 57% B. | 12%
C. | 6% D. | 25%
36 | Which of the following is a biodegradable waste?
A. | Polythene bags B. | Synthetic fiber
C. | Food waste D. | Paper
36 | ol Aottmiall cUAABAIAA sURA 52 B?
A QAdlet Aot s 2L
C. vl suRl D. | sloin

37 | Which of the following is not the municipal solid waste?
A. | Radioactive substance B. | Ashes
C. | Food waste D. | Rubbish




37

ol Asuiedll s 1RRARUA olss? 5UR otell?

A | BRedol ueldd B. | 2w
C. | vilisell 53 D. | 53l

38 | Which of the following waste can be decomposed by bacteria?
A. | Radioactive substance B. | Ashes
C. | Food waste D. | Rubbish
38 | ollActnieall s suA AR g2 QuRd 53l asia B?
A | BRedol ueldd B. | 2w
C. | wlatsel su3l D. | su3l
39 | The organic matter present in the water is of types.
A |2 B. |3
C. |4 D. |5
39 | wellul sl steilds uetal ysiell sl .
A > B. |3
40 | Chlorofluorocarbon is used in
A. | Refrigerators B. | Air conditioners
C. | Perfumes D. | All of the above
40 | sclAsARAs0lotell GUADL WA B
A 3FseR B. | AR s(Ralotal
C. | ux? D. | GuRetl ctHiH

41 | Which gas is mainly produced due to incomplete burning of wood?
A.| CO B. | SO2
C. | NO2 D. | NO3

41

cAlsstell AYRldial 5120 Yuaud sl Adoj GUleat Ul B?

A. | CO B. | SO,

C. | NO; D. | NOs




42 | What are the effects of sulphur dioxide on the human body?
A. | It causes the malfunction of liver and B. | It breaks down body’s immunity
kidney towards particulate matter and bacteria
C. | It causes blood cells to dilate thereby D. | All of the mentioned

affecting blood flow through the
circulatory system

42

UCHR SLRASABS(l UUR Ulotcl AR UR 9 B?

Al agd wal Bsellell vl B. | A 56 uat il yd 2dlzell
ylQal ASl N &
C. 1A 302 aMA @@L Uclte] | P | Guretl M
51201 eal B Boltedl (A(@u20L
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43 | Noise is
A. | an unwanted noise B. | anirritant
C. | asource of stress D. | all of the above
43 | e R
Al As Wall®d wales ASs WdRU
C. | doue ol As Ad D. | GuRell dxn
44 | Sound is measured in
A. | Hertz B. | Decibel
C. | Ppm D. | None of the above
44 |y Ui UMl A B
A | 88 3R
C. | iUl D. | GuRell 818 wol ol




45 | Which of the following is a secondary air pollutant?
A. | SPM B. | PAN
C. | SO2 D. | NO;
45 | ol Aottmiell sau ollwL sclte] YENS D?
A. | spm B. | PAN
C. | so2 NO2

46 | How many main components are there in integrated waste management?
A |1l B. |2
C. |3 D. |4
46 | Alsd sUA calcRUUAHL Hul U2sl d2cl B?
Ay B.|»
C.|3 D. |4

47 | Which of the following can be recycled many times?
A. | Plastic B. | Wood
C. | Organic materials D. | Aluminum

A7 | ol Aotmiell 53y uell cuct Buasa s asta ®?
Al w®s B. | cuss
C. | ®As anHofl D. | AcyPRan

48

What is the effect of ozone on human respiratory system?

A. | It has higher affinity to bind with B. | It causes the disfigurement of the
haemoglobin and does not allow alveoli reducing the surface area for
binding of oxygen gaseous transfer

C. | It damages lung tissues and aggravates | D. | All of the mentioned




|

| asthma

48
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49 | Why plastics are difficult to recycle?

A. | Because it is very hard material B. | Because it is very adhesive in its nature

C. | Because of different types of polymer D. | Because of different sizes of plastic
resins

49 | wuRRs 31 Ruasd s9 YBe B2
Al sReL 3 A wol At WHIAL B B. | 5120l 3 A Aol ecellatHl wol %
Alsej B
D.

C. | Q@YU ysRell WAHR 2Detat
5120
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50 | Heat energy received by the earth from the sun is due to
A. | Convention B. | Radiation
C. | A&B D. | None of the above
50 | gl g2t uitd acdl Gu Qe yecll A 520 B
Y
A | 5oldotalot ARAgte
C.l A ua olls D. | Guzell 818 uwl o1




Unit-2 Sustainable Development

Modern concept of sustainable development focuses more on

A. | economic development B. | social development

C. | environmental protection D. | all of the above

251G (Astell vuyls (Aetcsll ay Lol ohd UR 52 8
A wEls @sta B. | aiu®s @sia

C. | valarul el D. | GuRetl ctHiH

Which of the following is a renewable type of natural resource?

A. | Biomass B. | Solar Radiations

C. | Winds D. | All of the above

o(lAsttHiell 53 Yoty ysiRej el Aot 82

A | ol B. | yal 320
C. | waal D. | GuRell daunt

Sustainability Science is the study of the concepts of sustainable development and

A. | Environmental science B. | General science

C. | Social science D. | Geo science

256ug] [Astiet A 2516 [AslU uUA oll (Qetcstall HeAH B.
A vallazella [@stet B. | e [Qstiot

C. | aul®s Qstiot D. | o9 [@Qstlet

Which of the following is private (individual) resource?

A. | Pond of the village B. | River

C. | Farm D. | Minerals

o(lAsttiell 53 caulsAolct dAlUal B?

A ouuell doua B. | o€l

C.lRar D. | wollenl




Sustainable development can be thought of in terms of three spheres i.e.

A

environment, economy and society

B.

environment, economy and equity

C.

environment, ecology and society

D.

environment, economy and ecology

251G (Astuatl (AR 2Rl ANHL AwA B ¥

R

A.

YALAR0L, WA val UHY

yalaRel, wWedal wa ssadl

C.

YAldR0L, 851l WA UHLY

YAldRRl, AUAd wal 851A

Which of the following type of forest can be seen in area with high rainfall?

A

Dry tropical forest

B.

Tropical rain forest

C.

Mountain forest

D.

Alpine forest

(Al MUl U USIRell %I R clRULEANL AAHL %lcll HA B?

A | yst dRse SR B. | 2lsct 2ot S22

C. | iBo2et S12%2 D. | acuweSet §l3ze

Sustainable energy

A. | Is clean B. | Can be used over a long period of time

C. | Both (A) and (B) D. | None of the above

eslB@ G\l

A e B B. | ciol uHal Yl Aell Guallal 53l
AslA B

C.l @) ua (oll) oiad D. | Guefsctuiell 8165 o

How does the forest conserve the environment?

A. | By absorbing carbon dioxide B. | By preventing soil erosion
C. | By absorbing oxygen D. |[BothA &B

%A 58 I vaAlale] el 52 82

A | stoletslsues rllal g lolo] el uesicdla
C. | Asalloget dUellal D. |2 wa o ol dla

Which of the following state has got largest forest in the country?

A. | Madhya Pradesh

| B. | Arunachal Pradesh




| C. | Chhattisgarh

| D. | Gujarat

9 | o{lActiuiell sau AxauMi Wl cy %o HA B?
A | yearygal B. | az0uaet Yot
C. | dlaoL D. | 521
10 | Which of the following energy sources are available in India?
A. | Solar energy B. | Biomass energy
C. | Wind energy D. | All of the above
10| ol Aottmiall seut Goslotl A URAHL GUEsH B?
A1 AR GA B. | cuallaut Gost
C. | uaet God D. | Guretl dxn
11 | Which of the following is not an important tree of tropical rain forest?
A. | Ebony B. | Rosewood
C. | Mahogany D. | Sandal wood
111 olAcuniell 53 Hocclo] GuasRoitlla crull dotef gat otell?
A | gollell B. | Axgs
C. | nalotell D. | deat cus
12 | Which of the following sector major part of traditional sources of energy?
A. | Domestic B. | Industrial
C. | Transportation D. | None of the above
12 1 ol Astuiell st &R uURSLA Gosloll AWell ay Gualol a B?
Al uRd AeOLls
C. | cgotcacisl? D. | Guniell 818 uwl o1
13 | Tropical Rain forests grow well in area receiving rainfall:
A. | 200 cm B. | 150 cm
C. | 100 cm D. | 70cm
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cdRAULE Aol (ArARHL GrasRoitllal caruLesll dIA U3l A G

®:
A | 200 AL 150 AL
C. 1100 AL D. | 70 AL
14 | Which of the following is an important principle of energy demand management?
A. | End use B. | End uses
C. | A& B both D. | None of the above
14 1 Gl oL adlaieetll Mool Redict sl B?
A | i@ Guaal ool WA/ (EUc
C. 2w o oo D. | guauiell 818 ual o
15 | Sl unit for energy is
A. | Watt B. | Kilogram
C. | Newton D. | Joule
15 | Gofl iz Aaues Asu R}
Al dle (BAoun
C. | oyeat D. | et
16 | What should be done to conserve the fuel in domestic energy consumption?
A. | Use pressure cooker B. | Train the workers
C. | A& B both D. | Preheat the air
16 | exq Gosloll cluRlaHl (lnctloll (A sl 9 52 BN ?
A1 QY wetlaal YR §52 cdlURq B. | sl dielld uucll
Co | ot e o ol D- | gate] Y@L 529
17 | Energy in the form of heat and light is obtained by
A. | Biomass B. | Fossil fuels
C. | Sun D. | Winds
17

IRH el Ystatell UM Gt

Gl Ul a2l &




ATENRIEN B. | w@ed uwl
C.l gl Udai
18 | What steps should be taken for saving energy in vehicles?
A. | Reduce use of brakes B. | Reduce the use of clutch
C. | Drive vehicle in proper gear D. | All of the above
18 | cloalltl Gosl (A HIZ 9 Udletl Acll BN ?
A | QsallGuallol talsdl B. | sctuall GUaL Yatsal
C. | Aoal Plarul cusst uctiad D. | Guretl dxn
19 | Which of the following is a disadvantage of renewable energy?
A. | High pollution B. | Available only in few places
C. | High running cost D. | Unreliable supply
19 | oicflollsullal Goslo] Srcttet ol il s B?
A1 G YgNgL B. | g5l allsl 2e00A % Guctod B
C | Gt well 8t Wl D mf@uaslla yradl
20 is the solution for energy crisis.
A. | Energy conservation B. | Use of renewable energy
C. | A & B bhoth D. | Use of non-renewable energy
20 | Gofiofl 52188l RAcurau H2 Gula .
A | Gafled B. | yot:ytal Goslell GulloL
Co o ol D. 1 ystayiat Gasall Guallol
21 | Which among the following have a large amount of installed grid interactive renewable
power capacity in India?
A. | Wind power B. | Solar power
C. | Biomass power D. | Small Hydro power
21 | ol Aotmiel eRAnl 58 otcllollsella clle el yrewl @l ofls-se22Eea
-l B?
A | Yot Qo B. | Az alsal




Co | a2zt Gt

allell &LBSL UlaR

22 | Which of the following is not a renewable type of natural resource?
A. | Biomass B. | Solar Radiations
C. | Wind D. | None of the above
22 | ol QotiHiell 53 Yoty Yslre] gecll Aot ot2l?
A | ol B. | 3 e
ERVET D. | Gusctuiell 8¢ o1}
23 | The primary composition of coal is
A. | Nitrogen B. | Carbon
C. | Oxygen D. | Hydrogen
23 | Qe wals sl R
A | sesdloset B. | stelat
C. | Q5001 D. | slesgloset
24 | Which of the following is private (individual) resource?
A. | Pond of the village B. | River
C. | Water well D. | Minerals
24 | ol Acttuiel 53 AL Aol B?
A ool doua o€l
C.|lga D. | woflosl
25 | Ebony and Rosewood trees are found in the areas of rainfall:
A. | More than 200 cm B. | More than 100 cm
C. | More than 70 cm D. | Less than 50 cm.
25 cRULEAL (QRARHL 86lloll ua Axgs gal ol HA B
200 AL ay B. 100 ALl ay
C.l7oaxlell ay D. 150 ALl 20




26 | Which of the following type of forest can be seen in area with low rainfall?
A. | Dry tropical forest B. | Tropical rain forest
C. | Deciduous forest D. | Alpine forest

26 | oflActtuiedl sl YsiRell %A Sl cRUEAUU AANHL ol HA B?
A | yst ARse SR B. | 2lsct 2t S22
C. D.

Yol S22

WIEULES oL SR

27 | The most abundantly available fossil fuel in India is
A. | Coal B. | Natural Gas
C. | Petroleum D. | Qil
21 | ourdul Al ay yHewMi Guctey w(eNect BUBL &
Al QaAl B. | daurct At
C. | da@an D. | Qe
28 | What type of forests is seen in the central Himalayas?
A. | Dry tropical forest B. | Tropical rain forest
C. | Deciduous forest D. | Alpine forest
28 | 1t BHictAML 5L YSIRell %0LAl Blall HA B?
A | ysiRscdle B. | QlQsc?ot83
C. | wotu %2 D. | acweSat§l3ze
29 | Which of the following non-renewable energy is not classified under a fossil fuel?
A. | Nuclear B. | Petroleum
C. | Qil D. | Natural gas
29 | lAotiiell 58 oicll-otcllsulla Gosl U@ BuRl 350 adlsd o1ell?
A | uruig B- | QQan
C. | aa D. | geadl A
30 | Which of the following energy sources is not a renewable energy source?

A.

Solar energy

B.

Biomass energy

C.

Wind energy

D.

Fossil fuel




30

o(lA wActHiell sal Gl ANl Yoty Gost Al otell?

A1 AR G B. | cualau Gt
C. | et Gt D. | aalloget sl
31 | The best way to reduce deforestation is by
A. | Using more paper B. | Clear more area of trees to grow plant
C. | Burning forest in order to create D. | Clear more area of plants to grow trees
cultivated land
31 | ool Aol stuell wetsauell Avs 3t glRL B
A | ay sl Guallal sl B. | 8ls Gousall 12 Rsell ay (QrcllR
Us 53U
Cladl s2ell olet olotictat 12 aet | P

o(oToL

ALS Gousal HIZ2 8lsell ay (QrcllR
Us sA

32 | Which of the following sector mostly uses traditional sources of energy?
A. | Domestic B. | Industrial
C. | Transportation D. | All of the above

32 | o{lActtHial s AR URUROLA Baloll GUDL Ul B?

Al uRd B. | 2lal@ls

C. | cgetcaicisl? D. | GuRell vttues
33 | Rain forest land is most often cleared for

A. | Pasture B. | Forest fire

C. | Human activities D. | High pressure

33 ol cRule wotctell arllot et Al ALs scUHl WA D
AR B. | afoict ui 0L
D.

C. | Hetel ygRRA

G gulll

34 | Which of following material can be used in indirect waste recycling?
A. | Iron B. | Sugarcane stocks
C. | Paper D. | None of the above




34

gotslarse RaalsAoml «lA 1 Hil 58 U HAA Gulol s3] sl 82

A | Quis B. | 224l o0 g0

C. | sloin D. | guaniell 8¢ ual o
35 | The main cause of wildfire is

A. | Volcanic activity B. | Lightening

C. | Pollution D. | Human activity
35 | ofatclloll 10Le] Hual 5120 R)

A | acauyullell g B. | austall cflegofl

C. 1 ugnal D. | setet yug@
36 | What should be done to conserve the energy in steel industry?

A. | Run a plant in full load B. | Do energy audit

C. | A& B both D. | Preheat the air
36 | ¥l Galoi Gl slutclell HIZ 9 5?9 ASA?

A iyel AlsuRiclez Uedl. B. | Gt 2032 53

Cola ua o ol D.

gclle] Yl@EToL 529

37 | Which of the following is/are not an objective (s) of sustainable development?
A. | Continue to implement the family B. | Maintain a dynamic balance of arable
planning program land (not less than 123 million hectares)
and implement an agricultural
development strategy
C. | Maintain a dynamic balance of water D. | To bring about a gradual and sometime

resources by reducing water
consumption for every unit of gross
development product growth and
agricultural value added

catastrophic transformation of
environment

37

AUl s / 251G [Asiell GRoA o1ell?

A.

512(As Wyt sLA5HA WHA
gclloj AL AWl

B.

Ncllawas ool alQelld Adctet
Al (123 R(Aast dseell A
algl) wal sM ([As g Utlsll




UHA 53

s5A [Asid Geuleot Qs v s
He ads g3 AsH He wal
cAuRlel delslal o AUl
sl Adetst sl

walarelell sMs wa declsal
wUURels URadet cdlaal Hie

38 | What steps should be taken for saving energy in process industries?
A. | Use the economiser B. | Use exhaust gas to preheat feed liquid
C. | Waste heat recovery D. | All of the above
38 | cltsollHi Gl ol M2 9 WIlAl Acll RSA?
A B. | ls yctdl preheat HI2 AsA2 A
S5l LB R
cluRl.
C. | A éle Asadl D. | GuRetl
39 | Which of the following is correct, if we only achieve two out of three pillars of Sustainable

Development?

A. | Social + Economic Sustainability = B. | Social + Environmental Sustainability
Equitable = Bearable
C. | Economic + Environmental D. | All of the above

Sustainability = Viable

39 | ol Actmiell 53 Ao B, A AU 2516 ([Astletl il A vLtRRA slUA
531 ?
Al qi®s + wlls eslGuy) = dHlet | B | auu®s + wallarella esiGuy -
olRAnc
C.l 2ulEs + walarella 2siGuy - D. | GURlsd i
A} R
40 is the solution for energy crisis.
A. | Energy conservation B. | Use of renewable energy
C. | A& B both D. | Use of non-renewable energy
40 | Gaflofl 52158 [Acura 12 Gu B,
A | Goslatud B. | yotyial Goslall Guallol
C. ] ual ol oial D. | yotyriat Goslall Guallol




41 | What is sustainable development?

A. | The development that meets the needs | B. | To conserve natural resources and to
of the present without compromising develop alternate sources of power
the ability of future generations to meet while reducing pollution and harm to
their own needs the environment

C. | Itis the practice of developing land and | D. | All of the above
construction projects in a manner that
reduces their impact on the
environment by allowing them to create
energy efficient models of self-
sufficiency

4l | 256 [@Asa Aed 92

Al Qs B el o2 9totoll B. | ygngl wa walcRed ofsulet
Wedllell 23R AR Yal s2ctell yalscll aura gecdl sl
- Al U AHLULt 520l Qe A2l Aa At dsAas BA
slctoll 3R AA ygl 52 8 (AQsutca

C.l Q ollot U olitusiH WBseuell | D | Guscl
Qs sl yau & %

UlHACIR ALl energyasl stlat
HI3A oletietaledl 1ol wudlal
Y2AlaR0l URell dHetl yellaa uld
8.
42 | When was the term ‘Sustainable Development’ came into existence?
A. | 1987 B. | 1980
C. | 1978 D. | 1992
42 | yRAold dadUNeR’ AGE SAR AURACH] ML ?
A. | 1987 1980
C. 11978 D. | 1992
43 | Which of the following energy has the greatest potential among all the sources of

renewable energy?

A. | Solar energy

| B. | Wind Energy




| C. | Thermal energy

| D. | Hydro-electrical energy

B | sicllolls2e0a Qoo vl AL Al 565 Gl AWell ay deucstt B?
A | AR Gt B. | uaet Gl
C. | annict Gt D. | sldl-salesct Gl
44 | Which of the following part of India evergreen forests are found?
A. | Assam B. | Rajasthan
C. | Odisha D. | Uttar Pradesh
44| aURcloll sAL AOHE UELKSIR AAHIHO A B?
A B. | 2ttt
C. | 20Bu D. | Grirytal

45 | Which of the option is not incorporated as sustainable development parameters?
A. | Gender disparity and diversity B. | Inter and Intra-generation equity
C. | Carrying capacity D. | None of the above

P 12516 Qs RN 33 s @Qscu uHQre o9l?
A Aol @Quudl w1 QA B. | 022 WA Bogl-%ct2let SEASL
C. | aget el D.

Gusauiel 818 «il@

46 | What is the main source for the formation of wind?
A. | Uneven land B. | Sun
C. | Vegetation D. | Seasons
46 | Yclotofl 2usll HIBe] Yy Al g B?
A | et olet Uol
C. | dotrul@ D 1 3a
47 | What does OTEC stand for?
A. | Ocean thermal energy cultivation B. | Ocean thermal energy conversion
C. | Ocean techno energy conservation D. | Ocean thermal energy consumption

47

AWl AeA 97




HeRUR A Bl calddR B. | ays adcet Gt 3uid?

C. | HaloR 2soll Gt ¥Rl D. | ystaorell aict Qo aurlal

48 | Which option is correct, when we only accomplish two out of three pillars of Sustainable
Development?
A. | Economic + Environmental B. | Social + Environmental Sustainability
Sustainability = Viable = Bearable
C. | Social + Economic Sustainability = D. | None of the above
Equitable

48

22 AU 2516 [Asttatl Al A wuRdA o Ygl 3 A, sl [@Ascu
AU 8?

AL aEls + valcrella estGuyj - B. | aiu®s + vaiarglla esiGuy =
AR olAwct

Coluu@s + 2lds estGuy = et | P | Gudsauiell 8¢ o1

49 | Which is an organic matter produced by plants in direct or indirect forms?
A. | Solar energy B. | Biomass
C. | Wind energy D. | Bio-fuel
49 | Gdls gt ALl wac udet a3 Gauzrt 5AAA As slollls ueld sau d?
A | Az QA B. | cualuat
C. | udet G D. | aall gl

50 | What is BTU used to measure?
A. | Heat content B. | Area
C. | Density D. | Volume

50

o{ldlyoll Gullol g Hiucl M2 auA B?

A | orule] YLl B. | [tz

C. | ot D. | Aeyn




Unit-3 Solar power

How does the solar energy reach the earth?

A. | In radiation form B. | By heat conduction
C. | By heat convection D. | By transmission
YA Gl yeoll Ytll 58 A uslA B2

A | [@QBR0 a3 B. | Guulcleat a3

C. | Guul @oluet ad glulatet od

Which of the following energy has the greatest potential among all the sources of

renewable energy?

A. | Solar energy

B.

Wind Energy

C. | Thermal energy

D.

Hydro-electrical energy

olcflolls20la Goslotl olul WA Hiell 585 Gosloll etctotl Well ay B2

A TR Gt

B.

Udlel Glast

C. | Guu Gasl

D.

slBSl-8A s Bt

Angle made by plane surface with horizontal is called

A. | Slope B. | Altitude angle

C. | Zenith angle D. | Hour Angle

ALl Audl iRl w8l WA slotlddl walal sSCUML WA B
Al an Acdlgas sl

C. | 3Ru sl D. | aar Aot

The time from sunrise to sunset is termed as

A. | Slope B. | Day length

C. | Local solar time D. | Solar intensitys
Yaleadl yalad Yl una SEEEMGIETEIRe
Al an R ctell couss

C. | aulals AR uH D.

AR dladl




5 | Solar radiation spreads around after striking on particles of atmosphere. This phenomenon

is known as
A. | Absorption B. | Reflection
C. | Scattering D. | Refraction

5 | cldlaRelell 581 WA 25:ATA Yeoll (300 QWA 12 B, L teetlal

sdal ®.
A | el uRletdst
C. | &¥adlal D. | gfletaat

6 | What is the rate of solar energy reaching the earth surface?

A

1016W

B.

865W

C.

2854W

D.

1912W

6 | yeclofl uwdl uR udluct AR Gxlall €2 32l B?

A 1016 W B. | 865 w
C. | 2854 W D 11912 w
7 | LST stands for
A. | Local standard time B. | Local solar temperature
C. | Low surface temperature D. | Land surface temperature
T A3 Aed
A Rallals yHgled aH B. | 2aufs AR dlumtet
C.l ol Awéle] ctturtet o lotoll AWElo] AlUuHLot
8 is a strip made from joining two different metals.
A. | Thermal wool B. | Thermocouple
C. | Fall D. | None of the above
8 A SlPURL A AUAL Ul Sl wletlacdl ugl B.
add qd B. | alsuct
C. | aru D. | guanuiell algua 1@

\ 9 \ Which type of device is used to measure solar irradiance on a planar surface?




A. | Pyranometer B. | Net radiometer
C. | Gardon gauge D. | Pyrheliometer

9 | tetlol? Ul UR AR BAN MUl sAL UslRell GUSWLel GUNDL Ul B?
A | QRlell22 B. | Quull 2Ba0le?
) .| Solar radiation spreads around after striking on
¢ Ouéd a% D particles of atmosphere. This phenomenon is
known as
10 are solar radiations which come straight to earth without getting deflected.
A. | Diffuse radiation B. | Direct radiation
C. | Thermal radiation D. | Ultraviolet radiation
10 | Raw cecau [Qott Al o Yol uR ataldl ¥l Bl 53 B,
NIV ENBHE B. | stakse 281Aatet
C. | aniet 2129t D. | wcglatade 281910
11 | What is total amount of solar energy received by earth and atmosphere?
A. | 3.8 X 1024 Jlyear B. | 9.2 X 1024 J/year
C. | 5.4 X 1024 Jlyear D. | 2.1 X 1024 J/year
111 A2 Gosloll et 3ecll 1ot Yol A alciaRel sl Yitd adl ®2?
A. | 3.8 X 1024 Jlyear B. | 9.2 X 1024 J/year
C. | 5.4 X 1024 J/year D. | 2.1 X 1024 J/year
12 | To how many types are flat plate collectors divided depending on type of heat transfer
fluid?
A |2 B. |3
C.|4 D. |5
12 | 5@z Wz sAsed dle alortsroll Yclldloll UslRA U J2cll UslRHl adUAL
8?
2 3
C.l4 D.|s
13 | Which is most common source of energy from which electricity is produced?

A. | Hydroelectricity B. | Wind energy

C. | Coal D. | Solar energy




13

llosoll Gaurt 531 ¥ WA Goslotl Al UM A 520 B?

A | slsQsEeRE

B.

Uclel Gl

C. | s

D.

AR Gl

14 | For what purpose are Gas heating collectors used?

A. | To trap solar radiance B. | Toactas a medium to help in
conversion of sunlight to electrical
energy

C. | Employed as solar air heaters D. | They act as alternate panels in case of
failure

14 1 s 8 12 A 8lEat sAsedall Guallol a B?

AL AR Aoal salaal MR B. | yalustatal Qg Gaini
3ULAR scllHl HEE $Ral HIZall
HituH 313

C. | Az AR &ler ddl3 stalrd D. | Qrgqiciott Bruni Al ds(As
Vol 313 sl 52 B

15 | Total radiations = Beam radiations + radiations
A. | Diffuse B. | Direct
C. | Thermal D. | None of the above
15 1 dect 28lAgtet = ol 2SR + ENENEIE
A | sy B. | sta¥se
C. | anie GurHiAlslSuBL o3
16 | Liquid heating collectors are mainly used for
A. | Heating water B. | Generating electricity
C. | Cooking D. | Trapping sunlight
16 sl HIZ cuRlA .

@Gas 8Bl sAsed Yuau

Aoy well

B.

flosoll Geuat




SERG) D. 1 2[00t ylustal
17 | Complete the following reaction.
H.O + CO2 —
A. | CHO + Oy B. | CO2+ O3
C.| H+CO2+ 02 D. | CH20 + H.0 + O2
171 ol Aell ylABa yal sA.
H,O + CO, —
A. | CH2O + Oy B. | CO2+ O3
C.] H+CO,+ 0Oy D. | CH20 + HO + O3
18 is a glazing which limits the radiation and convection heat losses.
A. | Absorber plate B. | Selective surface
C. | Insulation D. | Transparent cover
18 | @ 2BAAA WA $oAs2At 2RHlell ofslatad HARA 52 B.A As 2A[Fat
R
ALl adl W@e udeollysd wudl
C. | gorjAglet D. | wredls saR
19 | Instrument used to measure direct beam of solar irradiance is called
A. | Pyranometer B. | Net radiometer
C. | Gardon gauge D. | Pyrheliometer
19 1 QR sdaootl steRse ol Hiuall HIE GUlDIHL Acllcl Ultotal
sdAlHl wA B
A Rzl B. | a2 d3alez
C. | oudet A D. | id@zale?
20 | Which instrument is used for measuring solar radiations?
A. | Sunshine recorder B. | Pyranometer
C. | Pyrheliometer D. | All of the above
20 | QR 26 Aetet sl Altetell HuRL B2
A YotausseR5182 B. | wiakelldle?




C. | wakdladle:

D. | Gurell dunt

21

In what form is solar energy is radiated from the sun?

A. | Ultraviolet Radiation

B. | Infrared radiation

C. | Electromagnetic waves

D. | Transverse waves

21

YA Rl YA Gl sAUl UMl Fcu2A B?

A | ucelalde Brellol

Bo512S ASAaet

C. | sQsaNXRs 20l

D. | st d200

22 | Insulation of solar flat plate collector are made from which material?
A. | Iron B. | Glass
C. | Aluminium D. | Copper

22 | QarsAe W2 sAse el AoAel W@z ol wacll dla d?
A | Qs B. | sia
C. | APan D. | digy

23

Solar radiation which reaches the surface without scattering or absorbed is called

A. | Beam Radiation

B. | Infrared radiation

C. | Ultraviolet radiation

D. | Diffuse radiation

23

B AR (3001 Aot QAN waal Ml sl [Qott AWl UR UslA B Aal

SSCUHL WA B

Aol 2R A9t

B. | 8525 23901

C. | uegladlde Brel@ol

(3001 3l

24

The scattered solar radiation is called

A. | Direct Radiation

B. | Beam Radiation

C. | Diffuse radiation

D. | Infrared Radiation

24 | watgaal AR Belawola sdAHL WA B
A | sladse 23t B. | olld 23 A9tet
C. | o0l ¥cua D. | ol 2330t




25 is a semiconductor material.
A. | Silicon B. | Iron
C. | Copper D. | Plastic
25 As All-$s522 ueld B.
A cAls\ot Avis
C. | dig D. | s
26 | What is/are the main objective of double glass lid?

A. | Permit solar ray to enter

B.

Prevent radiation loss from cocker

C. | All of the above

D.

None of the above

26 | Qctrgs? i soicet st cls ol Yual 3 9 B?
AL AR (BRal o vieR wldal & B. B. | g52 1iell dSutet a2l vieslad .
C. | GURall dxun D. | guaniell alua (@
27 | Insolation is less
A. | when the sun is low B. | when the sun right above head
C. | at night D. | atsunrise
21 BollAglet Al 2t B
AR Y2 AU sl B R ¥y Ml Gur sl
C.l22 D. | yal Gea wnd
28 | What are provided to minimize heat loss?
A. | Absorber plate B. | Surface plate
C. | Insulation D. | Casing
28

oRMlell U ofslet B scl HIZ g YElet scUML A B?

Al adl WAe

B.

Auidl Qe

C. | serxjAalot

D.

3RL




29 | Which part of flat plate collectors is coated in black?
A. | Transparent cover B. | Absorber plate
C. | Insulation D. | Fins

29

sA2 WA sAseAoll s20 AULOL SLOW JUHL 512 B?

Al ureds saR B. | alnl Al @z
C. | gorAalet D. | ot
30 | What is the use of solar cell?
A. | To measure the wind speed B. | To measure the solar radiation
C. | To charge the battery D. | None of the above
30 | Qe Actell GuAloL g B?
A | Yaetoll 235U Hual B. | et 281t Hiua

C.laedl e s2al

GURHLl s\SuaL «1(@

31 | The frame which contains all the parts is called
A. | box B. | plate
C. | enclose D. | container
31 | 31 3 Bui ottt ewdll 8l ® Aa seAlHl wA B
A | sooll Qe
C. | ol D. | 52012
32 | Sunshine recorder is works on principle.
A. | Thermocouple B. | Photovaltaic
C. | Solar concentration D. | None of the above

32 | YolaUuse2 882 Raid U sid 52 ®.
A | aallsud B. | A ss
C. | QAR AAUt D. | Guzuigll slsual 3

33 | In which collector does air flow without any obstruction?
A. | Porous absorber plate B. | Non-porous absorber plate
C. | Over lapped glass absorber D. | Finned absorber




33

sl 5As2HL Sl UL AURAY (Aotl sall ad B?

A | Balg s WA B. | Qot-Batq ns Qe
C. | AR Qs et s D. | Betals s
34 Is a semiconductor material.
A. | Germanium B. | Iron
C. | Copper D. | Plastic
34 As Axl-55522 ueld B,
o oflan Aluis
C. | digy D. | weu@s
35 | Boxes for putting cooking items in solar cooker are painted with colour
A. | White B. | Red
C. | Green D. | Black
35 | Aetlr g5l RAtcledl Al yscllotl sool 0lall sla B.
Al uke e
C. | dlan D. | stou

36 | In which absorber matrix material is arranged and the back absorber plate is eliminated?
A. | Porous absorber plate B. | Non-porous absorber plate
C. | Over lapped glass absorber D. | Finned absorber

36

sl us ARsU HRRaAAC sscl wsn Nus A2 sLEl ollulclHl U B?

A Balg s WA B. | Qot-Balq ns WA
C. | Alar Qs ot s D. | Botals s
37 | Which are the application of solar energy
A. | Solar Water Heating B. | Solar-distillation
C. | Solar Cooking D. | All of the above
37 1 Az Godlell GualoL 2 A D
Al QleR dler SlRat B. | A2-Rlieet




C.ldkkR A

GURASc AHIH

38 | Which instrument is used for measuring duration of the day when there is bright sunlight
available?
A. | Sunshine recorder B. | Pyranometer
C. | Pyrheliometer D. | All of the above

38 | yalusial Guaou Slat RUR (ol AHAUOUA HIUl M2 52l Ultstall GUNL
A B?
A | dotagelR 5182 SICEENRIEE
C | wakdlze: D. | Guretl dxun

39

Which type of absorber increases the heat transfer area over a simple flat plate absorber of

the same capacity?

A. | Porous absorber plate

B.

Non-porous absorber plate

C. | Over lapped glass absorber

D.

Finned absorber

39

sAL UsRall ™S UHLel &Hclloll UM $A2 A2 S U dRHlell eULeti Lol

AoHL AR §2 87

Al Balg s WA

(QAat-Balg Aus WA

C. | R Aw s NS

(Sotals NS

40 | Absorber plate of solar heaters are made from which material?
A. | Iron B. | Glass
C. | Plastic D. | Wood
40 | QR 8lerell Aoadlelz Wz well uAcll Hlat B?
A AQuls B. | siu
C. | wules D. | cuss

41

In which type of absorber plate is the overall flow direction is along the absorber glass

plate?




A. | Overlapped glass absorber B. | Finned absorber

C. | Non-porous absorber plate D. | Porous absorber plate
41 1 satell dlus We wd sl Ystretl NS wW@e la B?

A A cRAW o™ NS B. | Botals Aus

C. D.

(Qot-Bal) Ms Qe

Balq us A2

42 | Total radiations = radiations +Diffuse radiations

A. | Emission B. | Direct

C. | Thermal D. | None of the above
42 | decdslagtet - lAet + SR8l AA

A | a{latet B. | slakse

C. | aniet D. | gunielslsunl o
43 | How is heat loss over come in liquid plate collectors?

A. | By insulation B. | By casing

C. | By the transparent cover D. | From provided tubes

43

yalél wAe dolesHl dle A ¢ A aa 82

A | 83JQAst SR B. | gojA2let 6l2L

C. | wreds saR b2t D. | yelot 3 stofluiell
44 | The efficiency of various types of collectors with temperature.

A. | increases, decreasing B. | decreases, increasing

C. | remains same, increasing D. | depends upon type of collector
44 | [@QQu ystretl dousslell stalattdl diuniet Al

Ala@ ®, uz ® B. | 42 B, atdl »a ®

C. D.

UHLoL ¥ B, all 8 B

SAST USIR UR WIUR AW &

45 IS a strip made from joining two different metals.
A. | Thermal wool B. | Thermocouple
C. | Fall D. | None of the above




45

SlFUQL A AUAL Ul B8l clatiadl udl 8.

aid qe B. | enilsuct
C. | arm D. | Guauiell slgual o3
46 are solar radiations which comes after getting deflected to the earth.
A. | Diffuse radiation B. | Direct radiation
C. | Thermal radiation D. | Ultraviolet radiation
46 AR (3ulol % yocll u Rau veca ugl wud d.
NESRENBLT B. | stakse 2$1Aatet
C. | aniet 29290t D. | scglaade 28Rt
47 | Which are the advantages of solar energy?
A. | Safer than traditional electric current B. | Reduced dependence on foreign oil and
fossil fuels
C. | Can be installed virtually anywhere; in | D. | All of the above
a field to on a building
A7 | AR 6ot ol slaAEL S D?
AL URuRlold 8AEESs Yol scli ay | B | §lollel alset ual flulld wyc ol
YA CLURIAL UR ALUR WS AW B
C. | arfuet o i e s asta | P | GuRlsct
8; As (Xl U &l
48 | Diffuse radiation occurs due to phenomenon.
A. | Refraction B. | Reflection
C. | Scattering D. | All of the above
48 t2olla 5120 S5y 2BAAA A D.
agletclet B. | ualadat
C. | edlal D. | Guretl dxn
49 | Which are the disadvantages of solar energy?
A. | Lower solar production in the winter B. | Cloudy days do not produce as much
months energy
C. | A&B D. | None of the above




49

AR Gl oll JRSLAEL sAUL B?

A [Quouett HRaRAHL AR Gauteet | B | ateqeord] Radl gecll Al Geust
AUlY WA B scll otell
C.la Aes ol D. | Gugsauiel A o1}
50 is/ are types of the solar radiation.
A. | Gamma rays B. | X rays
C. | Visible rays D. | All of the above
50 A Y2l (Belolal ysil B.
A u3e B. | & 3
C. | goaniet (3201 D. | GuRell daundt




Unit-4 Wind power and Biomass Energy

1. | What is the main source for the formation of wind?

A. | Uneven land B. | Sun

C. | Vegetation D. | Seasons

L Uctotoll 2u0ll Ui2e] Yyt A g B?

A | uilet gHlet B. | yal

C. | cotrul@ D. | Qau

2 What is the main cause of the wind movements on earth?

A. | Solar radiations B. | Underground water

C. | Mountain D. | None of the above

2 | yecll uRetl ucelle] yuat 51201 9 B?

A | ydetl (3200 B. | gotel w1

C. | uddal D. | Guzuiell 818 ugL (3

3 | Which are the disadvantages of wind energy?

A. | Not a profitable use of land B. | Threat to wildlife

C. | A&B D. | None of the above

3 | udet Gaslell ARSLAEL sUL B?

A. | oilololl olss1Rs GUADL ol B. | doogciotal un sl

C. 1 ua oll D. | guaniell 8¢ uwl o

4 | Which of the following is a feature of horizontal axis wind turbine?

A. | Horizontal axis B. | Support not needed

C. R_otor_needs to be turned in wind D. All of the above
direction

4 | oAl 58 8l YR Qos eolgSotoll WIRAA B?

A dl wdl B. | qéell %32 otall

C. | Q22 udstoll Rauni ¥aal ud D. | Gurellcuin

| 5 | Which are the advantages of wind energy?




A. | Clean & Environment friendly Fuel B. | Renewable & Sustainable
source

C. | A & B both D. | None of the above

Uclel Glalall sl $l2LEL 87

A | a9 uUA yAlcRRA Asjgn B. | sicflollsrullat o 2516
olcRl At

C. | wa oll D. | guauiell 81 uwl ol

Which of the following is a feature of vertical axis wind turbine?

A. | Vertical axis

B.

Support not needed

C. | A & B hoth

D.

None of the above

lAuidl 585 Gell Yl ([Aos 2eieSatoll WIRAUA B?

A | Gell udl

B.

AWl %32 otell

Col A ua oll

D.

GuHil S5 uwl «1(8

Kinetic energy into electrical energy.

referred to as a wind energy converter is a device that converts the wind's

A. | Wind turbine

B.

Anemometer

C. | A & B both

D.

None of the above

A As GUSAU B B Udololl dlA2GAA [Qgd Blsinl 32A 8.

(Qos 2oliesel

B.

ARAAHeR

C.la ua ofl

D.

GURHIl 81& uwL o3

Which of the following is NOT a type of VAWT?

A. | Savonious turbine

B.

Darrieus turbine

C. | Propeller type turbine

D.

None of the above

o{lAHl s Gell Uil [Aos 2ulieft (VAWT)o UsR otell?

A | Adlella euieSat

B.

332 2olleSet

C. | QAR alu eallegSat

D.

GuHil 515 uwl (e

\ What happens when the land near the earth’s equator is heated?




B.

Small wind currents are formed

A. | All the oceans gets heated up
C. | Rise in tides

D.

Large atmospheric winds are created

9 el yecllott [Ayagrtoll stosell allot o1 a2l B U 9 UL B?
A | ol HELUIOIR IR U st B B. | stloll Uclel Yaltdl 222 D
C. | alrcdlui Gea D. | el atctaRela uetol slotictettmi
uA B
10 | What is the function of anemometer?
A. | To measure the wind speed B. | To produce electricity
C. | To apply brakes D. | To support the rotor
10| Reflsllere] sial g B?
A ydetell 35U HIUCll Qlogefl Geurt 52l
C. | As couacdl D. | Qzral e 524
11 | Which are the advantages of wind energy?
A. | Cost Effective B. | Industrial and Domestic Installation
C. | Job Creation D. | All of the above
11 1 yaet Gsiell saul stauel D2
Al wurslRs Wil B. | 2lalBls wal U] @t
C. | Rt (BAAet GURS LM
12 | Tower of the wind turbine is made up of .
A. | Steel B. | Plastic
C. | Wood D. | None of the above
12 1 (Qos 2odl8Sotoll 2laR ol tlacll sl 8.
A | Elet B. | veuRs
C. | auss D. | Guauidl 818 uwl «1
13 | Which are the disadvantages of wind energy?
A. | Fluctuation of Wind and Good wind B. | Noise and aesthetic pollution

sites




|C. | A&B | D. | None of the above
13 | yaot Qaslett A2slauel sal 2
A | ycet Aol Adl udet uts2usll B. | aaues ua Wedaell ugnal
auae
C. | A ua ofl D. | Guaniall 818 uL 13
14 | What is the use of windmill?
A. | Pumping of water B. | Running the flour mill
C. | Production of electricity D. | All of the above
14 1 yaostusslett GUDN s B?
AL wglle] wilol sre Uil eqncllell Ul uctiaal
C. | dlegollo Geuteot s2cul D. | Guretl dHH
15 | How much wind power does India hold?
A. [ 20,000 MW B. | 12,000 MW
C. | 140,000 MW D. | 5000 MW
15 | ard 3ecll ucet a5 YRlA 87
A | 20,000 Roudle 12,000 Roudle
C. | 140,000 Roudle D. | 5000 Roude

16 | The power capacity of large size wind turbine is :
A. | 0-10 kW B. | More than 500 kW
C. | 50-500 kW D. | 10-50 kW
16 18l aepetl (Qos enltfotoll UlaR il 8laL ®.
A1 0-10 kW 500 kW 52cll dy
C. | 50-500 kW D. | 10-50 kW
17 | What does WECS stands for?
A. | Wind energy conversion system B. | Wind engine control system
C. | Wind energy combined system D. | Wind engine comparison system




17

secjs{lAY AeA 9j?

A | ucel Bl 3uidR Riren

el AEBet (2ol ReH

C. | Uctet Bl 2i3ysdt Ren

D. | uctet ARt Jctotl RreH

18 | Wind energy is type of energy source.
A. | Non-renewable B. | Renewable
C. | Fossil fuels D. | None of the above
18 | Yot Gl ysiRell Goslell Blld B.
A | Yoty B | Yoty
C. | gaiian el D. | guauiell 8¢ ual o
19 | Turbines with how many propellers are used in order to avoid vibrations?
A |l B. |2
C. |3 D. |4
19 | wieaa elat 12 3ectt WA Aol 2eigetoll GUADL scllHl v B?
Ay B.|»
C. |3 D. |4
20 | Design of the turbine blade is of shaped.
A. | Super-cooled B. | Good
C. | Aerodynamic D. | None of the above
20 | zeieSeol 0QSell SloAleset U5 8l B.
A | YuR-5cs B. 1 adl
C. | QA staa@s D. | guauiel 818 ual o
21 | With up to how many propellers can windmills are built?
A |4 B. |2
C.|7 D. |6
21 1 et WA udelussl ooticll a3 B2
A, B. [,




22 | What are used to turn wind energy into electrical energy?
A. | Turbine B. | Generators
C. | Yaw motor D. | Blades

22 | Yol QiR (Aggct QuosiMi JRclall HI2 9 cuRla B?
A | 2ollget B. | ogot22
C. | as Ae? D. | sQs

23 | Which type of windmill has better performance?
A. | Vertical type wind mills B. | Darrieus type machines
C. | Magnus effect rotor D. | Horizontal type windmills
23 | sall yslRell ucetAssle] yedlot ay w3 d?
A aBsd ysiRell (Qos Meat B. | 33124 ystetl Hallell
C. | Rost B}s2 2Ae? D. | st ystretl uctstussl

24 | A wind turbine designed too to come into operation at a minimum wind speed is called
A. | Cut in velocity B. | Windward
C. | Cut out velocity D. | Upwind location

24

oot Udotoll o[ stHollZlMl il 1R sletlaaltdl AUA Uctatsll 2ollgolal
sl AA B

AoHL s1Q B. | Qosa$

C. | Qo sidl D. | 2u(Qos 2ellet

25 | Which type of axis does a Savonius Rotor has?
A. | Horizontal axis B. | Mediolateral axis
C. | Vertical axis D. | Lateral Axis

25

Al A2 sl UslRell W&l URAA B?

A adl et B. | A3:0Q22c wat

C. | Gell wat D. | ouagell et




26 | How many of windmills are there?
A |2 B. |3
C. |4 D. |5
26 | yalotussl decll ®?
A2 3
27 | Which of the following type of turbine or the rotor requires relatively low velocity winds

for operation?

A. | Cup anemometer

B.

Savonius rotor

C. | Darrieus type rotor

D.

Magnus effect rotors

27

ol AU Hil 52l YslRe] 2cltSol AeUcll A2 WUt HIS YHIBHE &9l Adletlout

Uclollofl %32 B?

A | sy Alale? B. | AdlQaa 22

C. | 334 ystre] Ae? Nooly B¥se A2
28 | What units does the anemometer measure in?

A. | Feet per minute B. | Liters per minute

C. | Centimeters per minute D. | Meter per seconds
28 | Ale? sa AsHL A B?

AR s e @zz €ls MlAe

C.laRHe: yd MEe D. | ass €ls Hle?

29 | Which is the wind direction showing device that spins perpendicularly?
A. | Wind socks B. | Weather vane
C. | Pin wheels D. | Anemometers

29

Uclotoll (2l 58 BusWUal oldlcll 28l ® ¥ sl2vQ RU a B?

A. | Yaetall 1ot

B.

ScllHlol Aa]

C. | Qo dlet

D.

AAHleR




30 | Which is the device that measures wind direction and its intensity?
A. | Wind socks B. | Weather vane
C. | Pin wheels D. | Anemometers

30

A 53] GusN B B Udslell (B2l U Aol dladclal WA &?

A. | Ycalall Wt

B.

gcllMlel Aay

C. | Qo Gl

D.

ARAAHe?

31 | A device which is used as device for showing direction wind as well used as a decorative
purpose?
A. | Wind socks B. | Weather vane
C. | Pin wheels D. | Anemometers

31

As [Basy (Rl udet oldiaal HiZell GUSL d3l3 duRvia & wal d Yletet

8q ¥ GuAHI Acd B?

A. | Yaetall 1ot

gcllMlel Aaq

C. | Qot gl D. | Ale=
32 is the motive force for HAWT.
A. | Lift force B. | Drag force
C.|Aand B D. | None of the above
32 A HAWT 112 3| v ©.
dAlse s\ RN
C. | A3 staa@s D.

GURHI 8\& uwL o3

33 | In which wind measuring device a tubular piece of thin flexible fabric hanged vertically to
determine direction?
A. | Wind socks B. | Weather vane
C. | Pin wheels D. | Anemometers

33

Uclot Hiuclloll GUsWML Uldol dals Jsell eyoyetr gsSl (al otssl scll

H2 Gell deslaauHl vilcA?

A. | ydatell Wost

gcllMlol Aaly]




C. | Qo Sl D. | a@ale?

34 | Wind energy is type of energy source.
A. | Non-traditional B. | Renewable
C. | AandB D. | None of the above
34 | Yaet G ysiRell Gosloll B B.
A | [QeturiuR1oLd B. | yotryiat
C. 1 ua oll D. | Guzuiell 818 ugL (3
35 | The following factor(s) affects the distribution of wind energy
A. | Mountain chains B. | The hills, trees and buildings
C. | Frictional effect of the surface D. | All of the above
35 | oflActl URHA (RA) Uctet Gosioll Q0L WAL 53 B
A | yddell uisal B. | 253121, g&ll wal sHIRA
Col auwidlell udal R D. | Gualsd i
36 | The power capacity of small size wind turbine is .
A. | 0-10 kw B. | More than 500 kW
C. | 50-500 kW D. | 10-50 kW
36 | ofio{lu et QoseolitSotoll ULclR &Ml gl B,
A1 0-10 kW B. | 500 kW $2cll ay
C. | 50-500 kW D. | 10-50 kW
37 | Uneven heating occurs on land surface and water bodies are due to
A. | Air Currents B. | Solar radiation
C. | Lunar eclipse D. | None of the above
37 | et oMl arllotoll AUWdl UR Ul B W o AU A 520
A QR g2 B. | 2 el

C. | 2igaLsaL D. | Gugsauiell A o1}




38 | What is the application of windmill?
A. | Pumping of water B. | Running the flour mill
C.|Aand B D. | None of the above

38 | ycletusslotl GUAN sl B?
AL uielle] willat s2al ol enclofl €l uctiaal
Cla wa ol D. | Gugsauiall 8¢ o1

39 | The following is (are) the classification of winds
A. | Global wind B. | Local wind
C. | Both (A) and (B) D. | None of the above

39 | o{lA Yo Uclele] co(ls20l B

A | dRs udel B. | :als uctot

Cola wa ol D. | Guefsiuiell 8¢ «13
40 | Tower of the wind turbine can be made up of .

A. | Truss B. | R.C.C.

C. | Tube D. | All of the above
40 | yaetollenitsele] ata? oll olalf A A3 B.

Al e B. | 2.l

C. | eyot GURetldAHIH

41 | Wind energy is harnessed as energy with the help of windmill or turbine.
A. | Mechanical B. | Solar
C. | Electrical D. | Heat
41 | yaetussl waal euisetoll dstall ucet Gsiell Gosl tdld cauria B,
A R3Rse B. | Az
C. | @y D. | oeall
42 | What is the function of wind vane?
A. | To measure the wind speed B. | To produce electricity
C. | To apply brakes D. | To measure wind direction.




42

(AosAato] st2l 9 B?

A T udatell 35U Hiucl B. | dlsell Geua sl

C. | As couacdll D. | yaiet ol (Bau state,

43 | The amount of energy available in the wind at any instant is proportional to ___ of the wind
speed.
A. | Square root power of two B. | Square root power of three
C. | Square power D. | Cube power

43

S8URL Rt UHA Ucotdl Guctotl Qlasioll 1ol Ucotoll oUQetl  YmIQRR
au B,

A | Qoll 35A 32 WeR B. | agefl aolya wieR

C. | 2sA2 waR D. | sepot utalR

44 | Which type of gear box is used in HAWT?
A. | Step up B. | Step down
C. | Reversible D. | None of the above
44 1 HAWT il sl UstRell Plar ollsuell GUulol Ul B2
Al Ru ay B. | RuslGet
C. | axlloct D. | guaniell 8¢ uel o

45 | What is the diameter of wind turbine blades?
A. | 320 feet B. | 220 feet
C. | 80 feet D. | 500 feet
45 | ydlel 2utltsel QS calld 9 B?
A 1320 g2 B. | 220 g2
C. 180 ge D. | 500 g2

46

Which of the following is a vertical axis wind turbine?

A. | Savonius B. | Darrieus

C. | A & B both D. | None of the above




46

o{lA M AHI AT AR sAREA- Uclot 2olltsol B?

A. T adllaa B. | 39t
C. 1R ux ofl ¢l D. | Guaniell ¢ ual o
47 | At what range of speed is the electricity from the wind turbine is generated?
A. [ 100 — 125 mph B. [ 50 — 650 mph
C. | 250 — 450 mph D. | 30-35 mph
47 | Qos eallgsatmiall ool Facll allQui Geust ala 87
A. 1100 - 125 WBA U scs B. | 50 - 650 wsd ulQ scus
C. | 250 - 450 WsA Y@ scus D. | 30-35 wsd uld scus

48 | Which of the following is a feature of horizontal axis wind turbine?
A. | Horizontal axis B. | Yaw control mechanism
C. | Nacelle D. | All of above
48 | lauidl s8¢ 2udl Ul [Qos collSatoll WiRUA B?
ALl udl B. | aua Qs ug@
C. |l ada D. | Guretlcaun

49 | What does Heating and cooling of the atmosphere generates?
A. | Thermo line circulation B. | Radiation currents
C. | Convection currents D. | Conduction currents
49 | clcttaRHl oMl AR 655 9 Geumt 52 B?
Al ctsel uReanel B. | 2RAglt 522
C. | sosatet yeudl D. | aget 522
50 | Wind energy is different form of energy.
A. | Solar energy B. | Bio mass energy
C. | Tidal energy D. | None of the above
50 | Yot God A Blosie] A5 WAL 23U D,
A1 AR G B. | suallaut Gt

C.l ardl Gt D. | guauiell 8¢ uwl o




Unit-5 Introduction to Disaster Management

The amount of ground displacement in a earthquake is called the

A. | epicenter B. | Dip

C. | slip D. | Focus

esuMl wHlototl [Qretustsll Hioual s A B

Al B0 B. | Bu

C.| lleu fsu

A flood can vary in:

A. | size B. | speed of water flow

C. | duration D. | All of the above.

YRHI Al wectia 2wl as B

A | sg wellelt yewsell ol

C. | wa® D. | GURlsc M.

The elements of fire triangular are

A. | Heat,Oxygen,fuel B. | Heat,cabondioxide,fuel

C. | Heat,wood,fuel D. | None of the above

WA ASQLetl el R

A o], A%, cadel RH], stolet SlASUES, olandll
D.

C. o], cuss, sladul

GURHLl s\8uaL «1(@

Epidemiologists are interested in learning about

the frequency and geographic

A. | the causes of diseases and how to cure | B.
or control them distribution of diseases
C. | the causal relationships between D. | all of the above
diseases
Aotau{lA @A 2lluteuni 3R wRAd B,
A1 006l 51R60 AR AHoll  BEL% B. | Aol 2ttt el lol@s
wcll el 3l A sq QdRal
D. | GuRscl dHun.

C. | Q00 a2 siRE10d il




The point where movement occurred which triggered the earthquake is the

A. | dip B. | epicenter

C. | focus D. | all of the above

A (olg el (aad wdl & uUA B U Gawd sl d R

Al Bu B. | 3oa

C.l 8lsu D. | GuRlsct dmun.

The size of a flood is measured by

A. | the rate of flow of water in a waterway | B. | the level of water in a waterway or river
or river

C. | ariver gauging station D. | all of the above

YRo] SE GLRL HUUHT A B:

A ool watal otéll wellet B. | agautol it otelul wellef 2R
yaigell €2

C. | As otlott AFoL Ratotell D. | GUAsct .

Covid -19isa

A. | Disaster B. | Epidemic

C. | Disease D. | None of the above

slAs -19 A R

A | 8lotlre HalH3

C. | ot D. | guauiell slgual 1@

Which of the following sequences correctly lists the different arrivals from first to last?

A. | P waves ... S waves .... Surface waves

B.

Surface waves ... P waves .... S waves

C. | P waves ... Surface waves ... S waves

D.

S waves ... P waves .... Surface waves




ol Actiriell s s1 Yyl et Yelloll el el BOIHslell A0 A YR

UAd B?

ATl d20l ... A” dR90 ... uudl B. | qwdl 2ol ... Ul d2all ... A
a0l dol

Co il 9l ... qwél 29l ... Ay D. | A 20l ... Ul 29l ... wwdl

SER

SR

9 | Which type of fire extinguish do you use to fight an electrical fire if a carbon dioxide
extinguisher is unavailable?
A. | Water B. | Wet Chemical
C. | Foam D. | Dry Powder
9 | A slolol SLRASALSS WUBAWHS GUACH of Hlal A dR BAGRSA AR AR
Ascl H2 sAL YslRell wPaaHatell BUAL 53| 25l 912
AL uell B. | ollef 3@sct
C. | 4lat D. | yst weas?
10 | Which of the following waves is the slowest?
A. | P waves B. | S waves
C. | Surface waves D. | Tsunami
10 | oflAotniall sau 2ot Al Ll B2
A RVIERN A AR21
C.lawdl d2ol D. | yousll
11 | Which are the types of body waves?
A. | Love and Rayleigh waves B. | P and S waves
C. | Sound waves D. | None of the above
111 gl Actotl ystal sl B2
Al da e 2A A P ua S Ao
C. | uGBos Ac D.

GuHigl sleuil (@




12 | Which of the following is an environmental consequence of floods?
A. | dispersal of weed species B. | erosion of soil
C. | release of pollutants into waterways D. | All of the above.
121 ol Aot Yrej uaicrellar uReun g 87
A | oflgoll ol @QRL sting B. | wdle] eleui
C. | ool ug™sle] yral GRg | P | GURlsct .
13 | Intensity of earthquake is measured in :
A. | Micron B. | Nano-meter
C. | Richter scale D. | After shocks
13 | gsuell gt U Hw .
A | sl AolHle?
C. | dlser B D. [ ause? dlsu
14 | Approximately what percentage of earthquakes occur at plate boundaries?
A. | 25% B. | 50%
C. | 75% D. | 90%
14 1 Qeell dliuni dotedt 3ecl est gsu i d?
A | 25% B. | 50%
C. | 75% D. | 90%
15 | Earthquake of RS is considered a medium earthquake.
A |1l B. |55
C.|8 D. | None of the above
15 UR. A ol U HraH sallall YU sdallal,
1 B. |55
C.lsg D. | Guauigll slual «R
16 | Flood risk refers to:
A. | the chance of a flood occurring B. | the number of people and properties
exposed to floodwaters if a flood occurs
C. | the vulnerability of people and D. | all of the above

properties that are exposed to




| floodwaters

16 | yre] oAlunt deelui B.
A YR aclell deudstt B. | yz a1d Al YR ual ot€lllell
AUSHL el ASlell vl
C.l A8 A RetsAlell stotouss & D. | GURlsd M.
YRoll wellett Ausul &
17 | Fault point where the earthquake originates is known as
A. | Epicentre B. | Hypocentre
C. | A & B bhoth D. | None of the above
17| flee MSoea »2ui su Ggad A 53 ®.
Al AUldceR slAWAo2?
C. 2w o ol D. | Guanisllslssunt «13
18 | Who has the authority to pull the fire alarm after discovering a fire on the worksite?
A. | Only the manager can activate the fire | B. | Anyone who has seen a fire can
alarm activate the fire alarm
C. | Only the health and safety rep can D. | Only the owner can activate the fire
activate the fire alarm alarm
18 | afause uR wwolell el gt ugdl star Act] WAl wu@sR Sloll W B2
Al s AalwR g2 Actdal A2 531 | B | bR Ay Sl A ldual, stalR
ER Aty wBA 53 23 B
C. | g5ct AR A AAHA YARE | P | g5t 1ul@s stz Aania wBa sdl
% glaR A AUBA 53 ad B Ak ©
19 | Main cause of the floods is
A. | Very high rainfall intensity B. | Earthquake
C. | Winds D. | None of the above
19 1y wcats yuat sl 8.
ALyl ay crutgell dlddt e
C. | uaal D. | Guzuiell slual 3




20 | Which are the fire prevention
A. | Do not smoke indoors B. | Do not leave your cooking unattended.
C. | Fire Alarm, Sprinkler, Fire Escapes, D. | All of the above
Fire Extinguishers, and Emergency
Exits
20 % UL Aol B
A | uRell viER Yyulet o 530 B. | ctdl 2854 tallet <R 618\
a8l
C. | sl A, Yesta s2elR, sl | P | GURlsct A,
AW, AUOAWHS BUSWN Al
sHRY{ A
21 | What are the effects of cyclone?
A. | High velocity winds B. | Transportation is disturbed
C. | Epidemic D. | A& B both
21 | cuadilste] vuR 9w d?
Al suell gstcdl ucsll cllgetcuciRel WAl ¥l
C. | Al D.

U Aol ol Gl

22

Which of the following can reduce the risk of flooding?

A. | zonings and building regulations for B. | dams, detention basins and levees
new developments
C. | flood awareness and education D. | All of the above.

programs

22

ollAotiell slottell Yrof wn watdl asia 8?

Al otall [@st 12 Ao A Hslet
[Ra

B.

Iy uestad ARl wal uglA

Col YR 19y ol Qe stelsnl

GURAS AHIH.




23 | What is the cause of tsunami?
A. | Flood B. | Cyclone
C. | Oceanic earthquake D. | Tide and ebb
23 | gouHl 2tctauq] sial 9 B?
AT yR LA
C. | eRauss ei5u D. | el el 202

24 | Which are the factors occurrences after epidemics
A. | Temporary Population settlement B. | Ecological change
C. | A&B D. | None of the above
24 Aotaual ugdlett URoAl ®
SIHAAG cdrcdl Udlae 85l sA URcldot
C. 1 ua oll D. | guaniell slgua (@
25 | What is the function of disaster management department?
A. | To make people aware of disaster B. | Rescue operations
C. | To forecast the disaster D. | All of the above
25 | iR Ao (Qewotstt staAl o B?
A | AU (AR es9)d s2al wULd 52l
C. | Rl ydaoudl s2cll D. | GuRell

26

Which of the following is used to estimate which areas will be inundated during a flood,

based on river height information?

A. | satellite and radar images B. | flood maps / floodplain hydraulic
models
C. | river gauging stations D. | All of the above

26

ol ActiHiell saul WUR o€l YR eM2lot sall (Al Wl ¢S 3 Asll

UELY slacll HIZ dUR 87

A1 GUaLs WA 2512 9ol

YR a5l / SAUSWABeL sl8UAs




H3cl

C. | odl Aot el D. | GuRlscl K.
27 should be informed first in case of fire.
A. | Court B. | School
C. | Fire brigade D. | Hospital
27 | ol Al A d1H Qe udat A QL sl RNSA,
Al RuuH B. | siouAl
C. | sz @As D | &kdec
28 | Prevention against epidemics are
A. | Boil water before drinking B. | Keep food and water cover
C. | Always wash hand D. | All of the above
28 | oUW Rarel R
Al well Lt udet Gstal VRLSs ol Wglle] atcrel gl
C. | éRau slu At D. | GuAlsct i,

29 | Government’s stock of food grains is useful during
A. | Drought B. | Fire
C. | Forest festivals D. | None of the above

29 | Y5120l Vatlxoll 2\S g120let GUALI olad B.

A | gl B. | 2401

C. | dot HAlRC D. | guauiell slua (@
30 | Chernobyl disaster it is a

A. | Nuclear disaster B. | Epidemic

C. | All of the above D. | None of the above
30 | AeAllde AUUR B

B.

Al uRug wul

Aol

C. | GURSc MM,

GuRHil sleuel (@




31

Which are the types of surface waves?

A. | Love and Rayleigh waves B. | P and S waves
C. | Sound waves D. | None of the above
31 | wudcuetl ysidl s B2
Al da wa A Ay Ul ol A Ay
C. | ABos A D. | Guaniell Slua
32 | What disasters do tornadoes cause?
A. | damage power lines, B. | arisk of fire
C. | damage gas lines D. | All of the above
32 | 259l 565 wuRRAG] 5120 UA B?
A | ofslel ULER ALYt AL sHIHH
C. | ofsllet AU el D. | GURlsc M.
33 | Intensity of earthquake is measured by :
A. | Seismometer B. | Pyrometer
C. | Thermometer D. | Anemometer
33 | gsusll dlaau ad HWA B,
A | Ruille? RAez
C. gr{le? D. AAHle?
34 is a series of waves caused by earthquakes or undersea volcanic eruptions.
A. | Tsunami B. | Floods
C. | Earthquake D. | Cyclone
34 A wcdlsu uaal eRaell vier vauonuyull 58l «lsacustl siRA
Al Westalledl Al 8.
A | yettdll YR
C. | gsu D. | usaid




35 | Earthquake of RS is considered a devastating earthquake.

A |1l B. |55

C.|8 D. | None of the above
35 R AU ol U dcRdls sallell iU sdalal,

1 B. |55

C.lsg D. | Guzuiell slsual 13
36 | What cause of tsunami?

A. | Earthquake B. | a powerful volcanic eruption

C. | an underwater landslide D. | All of the above
36 | Yotillef stRuL 9f B?

: B.

A. Gi\su

asaauoll eyl s12l ollsaa

Cl wellell vie opucst

GURAS AHIH.

37 | Fault point where the earthquake originates on the surface of the earth is known as
A. | Epicentre B. | Hypocentre
C. | A & B bhoth D. | None of the above

37

Ul gsu yeelloll Audl u2 Ggd B A e (olg

Bl ML A .

3%

A | AU dceR

slRAUAe2R

Cola wal ot ol

GuHidlslSunL «1(8

38 | What does the word "tsunami" mean in Japanese?
A. | Tidal wave B. | Harbor wave
C. | Killer wave D. | Century wave
38 | outetmi "Yoltl” Aoeall W g B?
A yals Qlost slolR Hlost
C.| Bar Aent D. | uélof 1oy




39

Main cause of the earthquake is

A. | Very high rainfall intensity B. | Tectonic plate movement
C. | Winds D. | None of the above
39 | g u vllclalle] Yyl 520 0.
ALy ay crutgell dlddt B. | 2s5dlells W@z oll sctot Uctst
C. | wall GuMil sisuwl «1(3
40 | What is the most active tsunami area?
A. | Pacific Ocean B. | Caribbean Sea
C. | Indian Ocean D. | North Atlantic Ocean
40 | yottalloll Al UG [@Qrclr s B?
A | yalid HalUR 5ot UYs
C. | e uslaorR D. | G2 Aecllls HUSIAUOR
41 | Anthropogenic earthquake occur due to
A. | Volcanic erruption B. | Tectonic plate movement
C. | Atomic bomb explosion D. | A& B bhoth
Al 1 AaBEs gsu 510 A B
A aqrouyull steaell 2slolls 12 oll sctot UAat
D. | 2w ol 6ia

C. | agolliot flscuell

42 | What is frequently a warning sign of an impending tsunami?
A. | Winds suddenly change direction B. | The sky suddenly clears
C. | Seawater suddenly retreats from the D. | All of the above
shore
42 | ettt Youtdloll Adasll @l 9 d?
A | Yalot ALets R cecll ot B VS AAULS UG UL 2 O
D. | GuAlscl .

C.l eRaues well uuets sidell Udes
52 8




43 disaster occurred in Bhopal in 1984 resulting the loss of 10000 people.
A. | Flood B. | Flood
C. | Oceanic earthquake D. | Oceanic earthquake
43 11984 Hi Aluweni AUUR uell 6cll Fott URRUA 10000 ASle]
4l A4 &d.
AT yR ST
C. | eRauss gy D. | Qlucllyos
44 | Bhopal Gas Disaster is a kind of
A. | Natural disaster B. | Manmade disaster
C. | All of the above D. | None of the above
44 1 elud A Basire: As YsiRell R)
A | gecll s HioldUFd 2
C. | GuRell dxH D.

GURHLl s\8uaL «1(@

45 | What is the function of disaster management department?
A. | To make people aware of disaster B. | Rescue operations
C. | To forecast the disaster D. | All of the above
45 | lxizer AAeioe (Qewodtelt stal 9 B?
A | AsluR (AR es9)d s2al wULd 52l
C. | auRel ydauoudl sl D. | GuRell

46 | The National Disaster Management Authority (NDMA) is headed by
A. | Prime Minister of India B. | President of India
C. | Governor of States D. | Chief Minister of States
46 | Qalelcd Bxleer ANz WARE (AASlAHR) il Adcct 360 B
A | iRl ast Ytllet B. | et cdetl 2eguld
C. | el AxAUA D. | 2o2lletl yuat Yot




47 | The natural disaster happened due to low rainfall is called

A. | Drought B. | Tornado

C. | Epidemic D. | None of the above
47 | aelcRAlER 51RA secll U@ wA B B sdaml A D,

A | grxslan B. | 253\

C. | aUld@s D. | Guzuiell slual 13
48 | Cyclones occurring in North Atlantic ocean are called

A. | Typhoon B. | Hurricanes

C. | Tornado D. | None of the above
48 | GrlR eclles UuMsHL AUdl Usald s&cUlHl wA B

B. | cicualst

A | elaigel

C. | usald

GURHLl s\8uaL «1(@

49 | When particular disease is affect large no of people is called
A. | Drought B. | Tornado
C. | Epidemic D. | None of the above
49 | a2 818 v (@Audl AL dvUHl QS UR 52 D IR Aal sdallal
8.
A | gl B. | 2158\
C.laUd@s GuHill Slunl R
50 | Tsunami’s can occur only during
A. | Evening B. | Afternoon
C. | Any time of the day or night D. | Morning
50 | yotiall g5t o AL A B
A | iy TNE
C.lRamt ¥ Adol SlSuRl uH Do | a2




Unit-6 Disaster Management Policy

All of the following are TRUE about disasters EXCEPT

A. | A disaster may be domestic or B. | A disaster may be caused by nature or
international have human origins
C. | A disaster always receives widespread | D. | A disaster may have a known and

media coverage.

gradual onset

What is the function of disaster management department?

A. | To make people aware of disaster B. | Rescue operations
C. | To forecast the disaster D. | All of the above
Sl A N2 (AeuoleltsiAlg B ?

A | ASlalAUR (AR es9)d sRal wuas(al

C. | el yd 2uoudl sl D. | GuRetlctiun

Which of the following diseases appeared as public health concern in the last quarter of 20™

century

A. | HIV B. | Ebola virus

C. | COovVID -19 D. | All of the above

Bhopal Gas Disaster is a kind of

A. | Natural disaster B. | Manmade disaster

C. | None of the above D. | Natural/manmade disaster

A disease that becomes unusually widespread and even global in its reach is referred to

B.

Pandemic

as
A. | Epidemic
C. | Spanish flu

D.

Hyperendemic

The National Disaster Management Authority (NDMA) is headed by

A. | Prime Minister of India

B.

President of India

C. | Governor of States

D.

Chief Minister of States




6 | Qaletct Ble A NAARE (AASIAHA) sll alcjccl 56018
A | el detty et B. | g@auetigul
C. | aue D. | 2ol uary ot

7 | The level of harm by a hazard is governed by
A. | Magnitude of the hazard B. | Frequency of the hazard
C. | Intensity at the impact point D. | All of the above
8 | Which of the following is not a man-made hazard?
A. | Leakage of Toxic waste B. | Wars and Civil Strife
C. Drought D. | Environmental pollution
8 | ol ActHi S ULt AP B Mot ] ?
A | 3 suRAAAy YA AR 53U
C.| gsin D. | valargllaygual
9 | The level of risk of a disaster depends on
A. | Nature of the hazard B. | Vulnerability of the elements which are
affected
C. | Economic value of the elements which | D. | All of the above
are affected
10 | Disaster Management includes
A. | Mitigation B. | Reconstruction
C. | Rehabilitation D. | All of the above
10| Bz AR Ao HIWAEAD:
A | A2t B. | 3521t
C. | yotdiatet D. | GuAsddxn
11 | In disaster management, mitigation measures involves -

A. | Governmental action and

| B. | Community action and administration




administration
C. | Military action and administration D. | None of the above
12 | United Nations disaster management team are responsible for solving problems resulting
from disaster in
A. | Asia B. | Africa
C. | Australia D. | All country
12| yogesalelertollBsirer A s oM,
WURHIUB R AU HRURAAURARUSQHIL S AUHELRD
A | A B. | a3t
C. | w@a D. | siatuls
13 | The cycle of disaster consists of the following components
A. | Mitigation, Preparedness, Response, B. | Preparedness, vulnerability assessment,
Recovery risk assessment, recovery
C. | Mitigation, Risk assessment, Response | D. | None of the above
and Recovery
14 | in India National Institute of Disaster Management is located at
A. | Manipur B. | Punjab
C. | Hyderabad D. | New Delhi
14| gRamidaddscR R 32 NA%NRRAAD
A QYR B. | \estot
C. | dealoue D. | otcllRcs
15 | DDMA is headed by
A. | District magistrate B. | Chief secretary
C. | BDO D. | None of the above

| 16 | The Disaster Management Act was made in




A. | .2006 B. [ 2003
C. | 2005 D. | .2009
16 | R e AN RS2 Aol Ll M wLcs Al
A. | 2006 B. | 2003
C. | 2005 D. | 2009

17 | Which are the mitigation measures involved in pre-disaster phase?
A. | Develop Disaster management plant B. | Collection of information
C. | Establish communication and D. | All of the above
technology network
18 | Effective hazard management largely rely on
A. | Govt. agencies B. | Emergency responses
C. | Pre-disaster planning D. | Volcanoes
18 | war stz saisecalciraul Ul 2L RALULRAAD
A | drsEl A a{lA B. | AuafllulQuuie
C. | Y-Barewculelol D. | Acdalu
19 | Which are the key activities involved in post disaster phase?
A. | Detailed damage assessment B. | Assistance to restore house
C. | A&B both D. | None of the above
20 | Which of the following is seasonally related hazard
A. | Earthquake B. | Volcanic eruption
C. | Terrorist attack D. | None of the above
20

QR Al Aot i ell 52D
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21

Disasters frequently result in all of the following EXCEPT

A

Damage to the ecological environment

B.

Displacement of populations

C.

Destruction of a population’s homeland

D.

Sustained public attention during the
recovery phase

22

There are nine tasks in the of disaster management. All of the following are tasks of this
model EXCEPT:

A. | Assess secondary social problems such | B. | Counsel those who have suffered
as health epidemics, displaced persons trauma and bereavement
C. | Control rumours, provide accurate D. | Provide security; prevent looting,
information protect person and property
23 | When did the Disaster Management formed?
A. | 2005 B. | 2006
C. | 2007 D. | 2008
24 | Where is International Tsunami Centre located?
A. | New York B. | London
C. | Mysore D. | Honolulu

25 | When do we celebrate as International Day for Natural Disaster Reduction?
A. | March 1 B. | April 15
C. | September 12 D. | October 13

26

Which are the key activities involved in post disaster phase?

A. | Analysing reconstruction and B. | Fund generation
rehabilitation plan
C. | A&B both D. | None of the above




27 | The play all of the following roles in covering a disaster EXCEPT:
A. | Shapes public sympathy by the amount | B. | Problem-solves obstacles encountered
and type of coverage in the delivery of relief
C. | Identifies heroes D. | Attempts to assign blame related to the
cause of the disaster or for failures in
response
28 | Which are the key activities involved in post disaster phase?
A. | Fund spending and audit B. | Project management
C. | A& B both D. | None of the above
29 | What are the three phases of disaster management planning?
A. | Planning, Evacuating and Recovery B. | Evacuating, Rebuilding and Re-
branding
C. | Preparation, Response and Recovery D. | Preparation, Planning and Perception
30 | Which are the mitigation measures involved in pre-disaster phase?
A. | Developing early warning mechanism | B. | Establish flexible procedures
C. | Building capabilities and expertise D. | All of the above
31 | Man-made disasters include:
A. | Wars B. | Terrorism
C. | Industrial hazard D. | All of the above
32 Effective hazard management largely rely on
A. | Govt. agencies B. | Emergency responses
C. | .Pre-disaster planning D. | Volcanoes
32 | R8RS se cAlcAUUCl Hl2l Al AR AN D
A | 4252, Aol B. | s2lsdl ulQuie
C. | Yl-2uuRe] 2ot D. | acpouyull
| 33 | Non-living factors of ecosystem are called




abiotic components

biotic components

o>

biosphere components

ecology components

34 | Which of the following is seasonally related hazard.
A. Earthquake B. Volcanic
C. | Terrorist attack D. | None of the above
34 | lActmiell sa el olldd se .
Al gy scllouyull
D.

C. | cdsaél gl

Gusauiel 818 «il@

35 | The disease that swept a large part of Asia, Europe and Africa in the 14 century is:
A. | Plague B. | Small pox
C. | Tuberculosis D. | Influenza
36 | The level of harm by a hazard is governed by
A. | Magnitude of the hazard B. | Frequency of the hazard
C. | Intensity at the impact point D. | All of the above

36 | aise Gl oslete] R dul@d wa d
A | dseell dladl B. | sluintell tatcdet
D. | GuAscl ctiuin

C. |z (g ur dladt

37 | Which are the key activities involved in post disaster phase?
A. | Communication B. | Dispute resolution mechanism
C. | A&B both D. | All of the above
38 | The level of risk of a disaster depends on
A. | Nature of the hazard B. | Vulnerability of the elements which are
affected
C. | Economic value of the elements which | D. | All of the above
are affected
38 | el Rluiie] R W2 (el ®




Uses] 23U

WA dcclloll dAaes

C. | mRoid dedlle] w5 yeal

GURAS AHIH

39 | The term “Disaster” is derived from which of the language
A. | French B. | Arabic
C. | Latin D. | Greek
40 Vulnerability analysis comes in which part of the Disaster Management Cycle
A. | Mitigation B. | Preparedness
C. | Response D. | Recovery
40 | [Qottatell QoAml BBlRe? AAAWNoe AUSall sl ML AUA B
A1 el daudl
C. |l ulaue D. | yot: wiA
41 | The typical examples of man-made disasters are (Answer : D)
A. | Chemical explosion B. | Leakage of toxic waste
C. | War and civil strife D. | All of the above
42 | The word disaster comes from
A. | Greek word B. | Latin word
C. | French word D. | German
42 | aul aloe AU D
A1 ofls aloe ARt 20
C.| 3o 210e D. | o0{ot
43 | What is a landslide?
A. | shaking of Earth B. | an opening in Earth similar to a
sinkhole
C. | soil, rock, and debris sliding down a D. | an eruption of lava

slope




44

Which of the following organization is the apex authority of disaster Management in

India?
A. | NDA B. | NDMA
C. | CDMA D. | INDR
44 | Al 58 Ul HRAHL Bxer A Nezall U2 w@s12 B2
A | Qe R B. | AadlAAuAR
C. | 8l AuR D. | 2ugsAatsullR

45

Who heads the National Crisis Management Committee?

A

Prime Minister

B.

President

C.

Cabinet Secretary

D.

Ministry of Environment

46 | Which of the following is not a component of disaster management cycle?
A. | Preparedness B. | Response
C. | Construction D. | Recovery
46 | oflActmiell sau HUR AU UsA u2s oiell?
A daudl ylate
C. | aliusin D. | yot: wiA

47

What is called for the manuals that identify the role of each officer in State for managing
the natural disasters?

A. | State Relief Manuals B. | State Environmental Protection
Manuals
C. | State Disaster Manuals D. | State Protection Manuals
48 | Which of the following groups of people is more vulnerable in the event of disaster?
A. | Men, boys, old people B. | Men, women, boys
C. | Women, children, old people D. | None of the above

48
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49 | Who released the first Disaster Management Plan of India?
A. | H. D. Deve gowda B. | Atal Bihari Vajpayee
C. | Manmohan Singh D. | Narendra Modi
50 in disaster management, mitigation measures involves
A. | Governmental action and B. | Community action and administration
administration
C. | Military action and administration D. | None of the above
50 | Bosre AalaNozHi, AMel UDLET WA D
Al uzsldl stlaldl wa adlae B. | ayelal Baw wa adlee
C.

253l stdadl wa aglae
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